W o

5k Sdie JLail b il 5 sl oad > Jls

@5k cdie Syga SIg V1 e gl ol 55 5 Sy VY e adsl pod 55 L LSS g5le 9] ans )
tr 55l il 5 SOl el S sl | o lin a1 36 s el 5 oS5 b il o e [0S
Sly g dtm coml laygilejganslp cnl 51 (S ST 055 o 0335 1) Sy oL VY- Sl JL SO 51
S Al 5 lalyl o ) b ygilejsanil 5 5l plaS jo 5l g see Gl 0ol )15 e

i gy 53 95l j9dudl § dw ja oS Slej (I

i gy 33 95le y9ausl i g a5 Sloj (&

Db o S plp Ol pe plids, b gl aSS

igly
Primary line voltage, V,, = 1100 volt
Sccondary line voltage, V,, = 110 volt
Secondary line current, Iu = kW x 1000 = 120 x 1000 =630 A
V3 XV, xcos ¢ 3x110x1
. . 120 x 1000
Primary line current, /,, = ———— =63 A
BB x1100x1
For delta connections,
Secondary phase current, [, = 630 _ 363.7 A (Ans.)
Y phas sl = NE] . s.
Primary phase current, [ , = 63 =36.37 A (Ans.)
Y phas ,FM—‘E— . s.
(ii) When only two transformers are in service
Secondary line current, I;Z = KW X1000 _ 120x1000 _ 630 A

J3xV, xcosp  Ax110x1

Secondary phase current, [, = Secondary line current = 630 A (Ans.)

’

Primary phase current, / ,, = Secondary phase current x transformation ratio

phl

_ 110 _
= 630 x 1100 = 63 A (Ans.)
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kW x 1000 _ 3048 x 1000
J3E, cos ¢ /3 x11000 x 0.8

Line current, IL = =200 A

In Vee-Vee connection, phase current is the same as line current and is equal to 200 A in this case.
Load p.f. cos ¢ = 0.8
¢ = cos™! 0.8 =36.87°

p.f. of transtormer-1 = cos (30° — ¢ = cos (30° — 36.87°)
= cos 6.87° = 0.993 lagging (Ans.)
p.f. of transtormer-1I = cos (30° + 36.87°)
= cos 66.87° = 0.393 lagging (Ans.)



